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Part: A 

1: Luke wants to use a single computer to run two separate Domino servers. Which one of the 

following types of servers should he use to accomplish this? 

A.A Virtual server 

B.A Multiple server 

C.A Clustered server 

D.A Partitioned server 

Correct Answers: D 

 

2: When viewing the NOTES.INI on the server, Joe noticed the task Rdebug in the ServerTasks= 

line. Which one of the following best describes this task? 

A.It enables the remote debugger for agents. 

B.It monitors the Administration Requests database for errors. 

C.It automatically detects bugs in agents running on the server. 

D.It monitors the server for agents that encounter errors when running. 

Correct Answers: A 

 

3: During user registration, migration of users CANNOT take place from which one of the 

following sources? 

A.Eudora 

B.Lotus cc:Mail 

C.Microsoft Mail 

D.Any LDAP Directory in an LDIF format 

Correct Answers: A 

 

4: To which one of the following files does the Activity Log write activity information? 

A.Log.nsf 

B.Noteslog.nsf 

C.Serverlog.nsf 

D.Activitylog.nsf 

Correct Answers: A 

 

5: Rolf is setting up a Domino environment consisting of multiple domains. Which one of the 

following can he do to make the addressing information from all of the domains available to the 

company's mobile Notes users? 

A.Set up Cascading Address Books on the Domino servers. 

B.Add the MOBILE_DIRECTORY=1 variable to each user's NOTES.INI file. 

C.Set up Master Address Books on the Domino servers and replicate locally to the users' laptops. 

D.Create a Directory Catalog that includes each domain's user information and replicate it to users' 

laptops. 

Correct Answers: D 

 

6: Which one of the following statements regarding the Certificate Authority (CA) is true? 



A.The CA issues Internet certificates only. 

B.Access to the certifier ID must be granted. 

C.The CA issues Lotus Notes certificates only. 

D.The CA issues both Lotus Notes and Internet certificates. 

Correct Answers: D 

 

7: Joe is planning on implementing multi-user workstations within his organization. Joe is 

concerned that multi-user workstations will use up a large amount of space. Which one of the 

following features should he implement to minimize the space requirements on multi-user 

workstations? 

A.Clean-up 

B.Daily Remove 

C.Automatic Delete 

D.Automatic Refresh 

Correct Answers: A 

 

8: Which one of the following best describes a centralized directory structure? 

A.A centralized directory structure is not supported. 

B.Only one server has a names.nsf and all other servers reference it. 

C.A small number of servers store a full Domino Directory, while most servers store only 

configuration information. 

D.A small number of servers store configuration information, while most servers store full 

Domino Directory information. 

Correct Answers: C 

 

9: The documents in the safetypolicies.nsf database contain many graphics. Users are complaining 

that the documents are taking too long to open. Which one of the following database settings can 

John enable to improve performance? 

A.Disable graphic display 

B.Display images after loading 

C.Don't allow headline monitoring 

D.Document table bitmap optimization 

Correct Answers: B 

 

10: Rolf is configuring Internet clustering. In which one of the following can he NOT place the 

Internet Cluster Manager? 

A.On each server in the cluster 

B.On only one server in the cluster 

C.On a single server outside the domain 

D.On a server outside of the cluster but inside the domain 

Correct Answers: C 

 

11: Which one of the following tasks must Monique do to access LDAP information on the 

Internet using a Notes client? 



A.Notes clients cannot access LDAP information from outside the Notes environment. 

B.Create "Accounts" in her Personal Address Book for each LDAP Directory she wants to access. 

C.Nothing. By pressing F9 or sending a message, Notes automatically references LDAP 

information from the Internet. 

D.Ask her administrator to create accounts in the Domino Directory for each LDAP Directory that 

is available in the Notes environment. 

Correct Answers: B 

 

12: Brigid tried to create a unique user OU but could not do so. Which one of the following 

hierarchical OU/O structures would prevent her from doing this? 

A.OU1/O 

B./OU2/OU1/O 

C./OU3/OU2/OU1/O 

D./OU4/OU3/OU2/OU1/O 

Correct Answers: D 

 

13: In which one of the following should Jim define Activity Logging? 

A.Notes Log 

B.Activity Log 

C.Server document 

D.Configuration settings document 

Correct Answers: D 

 

14: Nancy, a Lotus Domino administrator for a large corporation, supports over 1000 Lotus Notes 

users. Nancy would like to standardize user desktops and automate client upgrades. Which one of 

the following features can help her do this? 

A.Policy documents 

B.Upgrade documents 

C.Client management documents 

D.Workstation control documents 

Correct Answers: A 

 

15: A workflow application was developed which required routing information to a different 

database. Which one of the following should the Domino administrator do to enable document 

routing? 

A.Create a mail in database document. 

B.Create a workflow routing document. 

C.Send the NOTES.INI parameter WORKFLOW_ENABLED=1. 

D.Add the database to the routing tab of the Server document. 

Correct Answers: A 

 

16: Joe, a system administrator, is concerned that users in his organization are receiving too much 

spam mail. Which one of the following features can Joe use to solve the problem? 

A.Spam control 



B.Message control 

C.Server mail rules 

D.Mail restrictions 

Correct Answers: C 

 

17: Koki, a Domino administrator, is trying to move a server within the certification hierarchy by 

running the Administration Process task. He recertifies the server with a different certifier ID but 

the change never takes place. Which one of the following causes the recertifying process to fail? 

A.The server has a hierarchical certificate. 

B.The Administration Process was enabled. 

C.The Certification Log was placed on the Domino Administrator workstation. 

D.A replica copy of the Administration Requests database was placed on every server in the 

domain. 

Correct Answers: C 

 

18: Which one of the following best describes the way Activity Logging tracks server usage? 

A.Server, User, Protocol 

B.Database, User, Protocol 

C.Server, User, Domino Named Network 

D.Database, User, Domino Named Network 

Correct Answers: B 

 

19: Uschi must help users configure their Notes clients to use external mail directories for 

addressing mail. In order to access external mail directories, which one of the following must they 

create in their Personal Address Books? 

A.An Account document to enable the SMTP protocol 

B.A Location document to enable the SMTP protocol 

C.An Account document to enable the LDAP protocol 

D.A Connection document to connect to each server containing a directory they want to use 

Correct Answers: C 

 

20: Evan wants to see the replication topology map of his Domino domain. To see this topology, 

which one of the following server tasks must he load? 

A.MAPS 

B.EVENTS 

C.REPORT 

D.TOPOLOGY 

Correct Answers: A 

 


